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I. 1.  A  B 

 

(A) ( A   B ) l  =  A l    B
l   (B) ( A   B ) l  =  A l    B

l
  

(C) ( A   B ) l  =  A l    B
l   (D) ( A   B ) l  =  ( A   B ) l  

 
 

 (B) ( A   B ) l  =  A l    B
l  1 

B 
CCE RR 
UNREVISED 
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 2.  10
CC nn    

(A) 1 (B) n  

(C) n ! (D) 0 

 
 

 (B) n 1 

 3.  1  6 

4 

 

(A) 
6

4
 (B) 

6

3
 

(C) 
6

2
 (D) 

6

1
  

 
 

 (D) 
6

1
  

1 

 4.   13 5·2 

  

(A) 20 (B) 30 

(C) 40 (D) 50 

 
 

 (C) 40 1 

 5.  523      523    

 

(A) 2x  – 6x – 11  =  0 (B) 2x  + 6x – 11  =  0 

(C) 2x  + 6x + 11  =  0 (D) 2x  – 11x + 6  =  0 

 
 

 (A) 
2x  – 6x – 11  =  0 1 
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 6.  
tan A =  

4

3
   sin A  

(A) 
5

3
 (B) 

3

4
 

(C) 
5

4
 (D) 

3

5
 

  

 (A) 5

3
 

1 

 7.   ( x,  y )  

(A) 
22 yx 

 

(B) 
2)( yx   

(C) 
2)( yx    

(D) 
22 yx   

 
 

 (D) 
22 yx   1 

 8.  P A ( 1, 4 )  B ( 3, 6 ) 

P    

(A) ( 4,  10 ) (B) ( 2,  10 ) 

(C) ( 2,  5 ) (D) ( 4,  5 ) 

 
 

 (C) ( 2,  5 ) 1 
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II.  6  1 = 6 
 

 9  14   

 9. a   b

 

 
 

  =  
ba

ab



2
 

1 

 10.  

 
 

 a   b  a = bq + r, 0   r < b 

 q   r  1 

 11. (  = 0 )

 

 
 

 

 1 

 12. PA  PB O  

 APB
 
= 80º  AOP  

 

 
 

 AOB  =  180º – 80º 

 =  100º ½  
 

AOP  =  
2

1
 AOB  

 =  
2

1
  100º ½

  
 AOP  =  50º

 1 
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 13. 210  

 

 
 

 

  

 222 BCABAC   ½
 

 

 
222)210( ABAB     

 200 =  2 2AB    

 
2

2002 AB  
 

 2AB   =  100  

 AB  =  10 cm 

10 cm ½ 1 

 14. r

 

 
 

 =  3

3

4
r   

1 

III. 15. A = { 1,  2,  7 }    B = { 5,  7,  12 }  A   B  =  B   A

 2 

 
 

 A  =  { 1,  2,  7 } ,    B = { 5,  7,  12 }  

 A   B = { 1,  2,  7 }   { 5,  7,  12 }  

 A   B = { 1,  2,  5,  7,  12 } ... (i)  ½  

 B   A = { 5,  7,  12 }   { 1,  2,  7 }  
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 B   A = { 1,  2,  5,  7,  12 } ... (ii)  ½  

 (i)  (ii)   

 A   B = B   A  1 2 

 16.  2 

  

 

 1  

 a,  a + d,  a + 2d,  a + 3d  1 2 

 17. 5  
12

1
  11  

15

1
 25

 2 

  

 
 

 

 12
5
T  

15
11

T  ½  

 
d  =  

qp

TT
qp




 

 

  =  
115

115



 TT
 

 

  =  
6

1512




 

 

  =  
6

3




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 d  =  
2

1
 ½ 

 

 
  

5
T  =  12 

 

 a  + 4d  =  12  

 a + 4 )
2

1
(  = 12 

 

 a  =  12 – 2  

 a  =  10 ½  

 
  

n
T =  a + ( n – 1 ) d  

 

 25
T  =  a + 24d  

 

  =  10 + 24 )
2

1
(   

 

  =  10 + 12 ½  

 25
T  =  22 

 

  

 
22

1
25

T  
2 

 
 

 

 
  

5
T  =  12 

 

  
11

T   =  15  

 
 

n
T  =  a ( n – 1 ) d  

 

 
 

5
T   =  a + 4d  

 

   12 = a + 4d  ... (i)  

     
11

T  =  a + 10d  

  15  =   a + 10d ... (ii)  ½  
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 (i)  (ii)   

  a  +  4d   =  12 

 a  +  10d  =  15 

 (–) (–) (–) 

 –  6d  =  – 3 

 d  =  
2

1
 ½ 

 

 (i)  a + 4d  =  12 

  a + 4 )
2

1
(  =  12 

 

   a + 2  =  12 

  a  =  12 – 2 ½ 

  a  =  10  

  
25

T  =  a + 24d  
 

   =  10 + 24 )
2

1
(  

 

   =  10 + 12  

 
 

25
T  =  22 

 

    
22

1
25

T  ½ 2 

 18. 35     2 

 
 

 5 – 3     

   q

p
 35  ,   p, q 0,  qz  ½ 

 

 35 
q

p
 

 

   3
5




q

pq
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    3      
q

pq 5
    ½ 

 

 3     

   ½  

  5 – 3     

   5 – 3    ½ 2 

 19. 3,  5,  7,  8    9 

 2 

 
 

    

4  












1
4P

 3  












1
3P

 1  { 8 } 

 

 

 8

 1   

 4 3  

   

  =  4  3  1  ½  

  =  12   

  3, 5, 7, 8  9 3 12

 ½ 2 

 20. 8 

5 

 2 

 
 

1 
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 8   

 5 7

4    ½  

    =  
4

71 C   

 
  = 

!4

4567 
 

 

 
  =  

1234

4567




 1 

  = 35   

  8 5

35   ½ 2 

 21. 500 5 

 2 

 
 

 500   

   n ( S )  =  500 ½  

  

A   

   n ( A )  =  5
1

5 C  ½  

 
 P ( A )  =  

)(

)(

Sn

An
 ½ 

 

 
 P ( A )  =  

500

5
 ½ 

 

 
P ( A )  =  

100

1
 

 

 
   

500

5
    

100

1
 

2 
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 22.   a2 ,  a7 ,  a3 . 2 

 
 

 2 a  + 7 a  – 3 a   ½  

 =   9 a  – 3 a   1  

 =   6 a . ½ 2 

 23.  
35

2


. 2 

 
 

 
35

2


   35    is   35   ½ 

 

 
35

35

35

2

35

2










 ½ 

 

   =  
22 )3()5(

)35(2




  ( a + b ) ( a – b ) = 

22 ba   

 

   =   
35

)35(2




 ½ 

 

   =   
2

)35(2 
 

 

   =  35   ½ 2 

 24. P ( x ) = 853 23  xxx    g ( x ) = ( x – 1 ) 

 2 

 
 

 P ( x )  =  853 23  xxx ,    g ( x ) = x – 1  

 P ( 1 )  ½  
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 P ( x )  =  853 23  xxx   

 P ( 1 )  =  8)1(5)1(31 23   ½  

  =  1 + 3 – 5 + 8 

 =  12 – 5  

 P ( 1 )  = 7 ½  

    7 ½ 2 

 
 

 

  x – 1 ) 853 23  xxx  (  142  xx  

 23 xx   ½ 

 (–) (+) 

 4 2x  – 5x + 8 

 4 2x  – 4x  ½ 

 (–) (+) 

 –  x + 8 

 –  x + 1 ½ 

 (+)   (–) 

 7  

  7   ½ 2 

 25. 10634113 23  xxx  ( x – 3 ) 

 2 
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103 23  axxx  ( x – 5 ) a

 

 

  3 3 11 34 106 

    9 60 282 

  3 20 94 388 1  

    3 2x  + 20x + 94 ½ 

   388 ½ 2 

 
 

 

 P ( x )  =  23 3xx   + ax – 10 

( x – 5 )  P ( 5 )  =  0  ½  

  P ( x )  =  
23 3xx   + ax – 10  

  P ( 5 )  =  10.5)5(35 23  a   

  0  =  125 – 75 – 5.a – 10  

  0  =  40 + 5a   

  5a  =  – 40  

 
 a  =  

5

40
 1 

 

   a  =  – 8 

  a  =  – 8 ½ 2 
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 26. 3 AB = 5 

B   2 

 
 

 r  =  3  

AB  =  5  

 

BQ   

  — ½ 

  — ½ 

  — 1 2 

 27. DE ||  BC    DP ||  BE   

 ACAPAE .2  .  2 
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    DE || BC  

 DP || BE  

   2AE  =  AP . AC   

   ADP ~  ABE   

 
 A  =  A   

 

 
 and  ADP  =  ABE    as  DP || BE   

 

  
AE

AP

AB

AD
   ... (i)   ½ 

 

     ADE ~  ABC  

 
 A  =  A   

 

 
 ADE  =  ABC    as  DE || BC   

 

  
AC

AE

AB

AD
  ... (ii)   ½ 

 

 (i)  (ii)   

  
AC

AE

AE

AP
  ½ 

 

  2AE   =  AP . AC  ½  

 Direct proof may be given full marks. 2 

  
 

  ABC ~  DEF   

  ABC   =   DEF   

   ABC      DEF   
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    ABC ~  DEF   

 
  

 ABC

 DEF 2

2

EF

BC


 

  ½ 

 

 
 

 ABC

 ABC 2

2

EF

BC
    ½ 

 

 
 1  =  2

2

EF

BC
 

 

  
22 EFBC    

   BC  =  EF  ½  

 AB = DE     AC = DF   

   ABC    DEF     ½ 2 

 28. A = 60º    B = 30º   

cos ( A + B )  =  cos A . cos B – sin A . sin B  2 

 
 

 A = 60º 

B = 30º  

   cos ( A + B )  =  cos A . cos B – sin A . sin B   

      cos ( A + B )  

  =  cos ( 60º + 30º ) 

 =  cos ( 90º ) 

 =  0 ... (i)  ½  

 cos A . cos B – sin A . sin B   

  =  cos 60º . cos 30º – sin 60º . sin 30º  

 
 =  2

1
.

2

3

2

3
.

2

1
  
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 =   4

3

4

3
  1  

  =   0 ... (ii)  

 (i)    (ii)   

  cos ( A + B ) = cos A . cos B – sin A . sin B  ½ 2 

 29. ( 3,  1 )  ( 0,  x )  5 x

 2 2 

 
 

 ( 3,  1 )    ),(
11

yx   

 ( 0,  x )    ),(
22

yx    

 d  =  5    

 d  =  
2

12
2

12
)()( yyxx   ½  

 5  =  
22 )1()30(  x   

 5  =  xx 219 2     

   

 25  =  10 + 2x  – 2x  ½ 

   2x  – 2x – 15  =  0  

  2x  – 5x + 3x – 15 = 0  

  x ( x – 5 ) + 3 ( x – 5 ) = 0  

  ( x – 5 ) ( x + 3 ) = 0 ½  

 x – 5 = 0  x + 3 = 0 

x  =  5  x  =  – 3  

  x =  5  x  =  – 3 ½ 2 
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 30. 

 2 

 [  20  = 1  ] 
 D   

 200  

 140 C 60  

E 60 120  

 40 B 30 

 A   

  

   20  = 1   
 

 40   =  
20

40
 = 2  

 
 

120   =  
20

120
 = 6  

 
 

140   =  
20

140
 = 7  

 
 

200   =  
20

200
 = 10  

 
 

60   =  
20

60
 = 3  

 
 

30   =  
20

30
 = 1·5  ½ 

 
 

  1½ 2 



CCE  RR  19 81-K 

   (21)801-RR(B)  [ Turn over 

 
  

IV. 31. 24 

480  3 

 

4  24 8  384 

 

 
 

 a – d,  a,  a + d  ½  

 =  24 

  a – d + a + a + d  =  24 

  3a  =  24 

  a  =  8 ½  

 =  480

  ( a – d ) ( a ) ( a + d )  =  480 ½ 

  a ( )22 da   = 480 

  
a

da
48022   

  
8

480
8 22  d  

 

    64 – 2d  = 60 

   2d  = 64 – 60 

   2d  =  4 

   d  =    2 ½  

 a = 8,     d =  + 2   

  6,  8,  10 1 

  

 a = 8,    d  =  – 2   

  10,  8,  6 3 
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4
T  = 24  

 8
T  =  384 

 

 a  =  ? 

r  =  ?  

 

1 n
n

arT  ½ 
 

  
24

384

4

8


T

T
 ½ 

 

  
24

384

3

7


ar

ar
 ½ 

 

  4r   =  16  

  44 2r   

   r  =  2 ½  

   
4

T   =  24 ½  

  i.e. 3ar   =  24  

   a ( 2 ) 3  = 24  

   a  =  
8

24
  =  3 

 

   a  =  3 ½ 3 

  a = 3 

 r = 2  

 32.  3 

 2,  4,  6,  8,  10. 

 
 

16 

1 
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 i)   

 x 2x  

2 

4 

6 

8 

10 

4 

16 

36 

64 

100 

 x  =  30  2x  = 220 
 

 

 n = 5  

 
   =  

22










 




n

x

n

x
 ½ 

 

 
    =   

2

5

30

5

220








  

 

       =   3644    

     =  8  ½  

      ~  2·8 ½ 3 

 ii)   

 x d = x – x  2d  

2 

4 

6 

8 

10 

– 4 

– 2 

0 

2 

4 

16 

4 

0 

4 

16 

 x  =  30  
2d  = 40 

 

 

 n = 5  

1½ 

1 



81-K 22 CCE  RR  

   (21)801-RR(B)   

 
  

   =  
n

x
x


  

 

   =  
5

30
 

 

   x   =  6 ½  

 
   =  

n

d2
 ½ 

 

 
  =  

5

40
 

 

   =  8  ½  

         2·8 ½ 3 

 iii)   

 x d = x – A 
2d  

2 

4 

6 

8 

10 

– 4 

– 2 

0 

2 

4 

16 

4 

0 

4 

16 

  d  =  0  2d  = 40 
 

 

 n = 5 

A  =  6 ½  

 

 

22










 





n

d

n

d
 ½ 

 

 
 =  

2

5

0

5

40








  

 

  =  8  ½  

        2·8 ½ 3 

1 
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 iv)   

 x d = x – A  

d = 
c

Ax 
 

2d  

2 

4 

6 

8 

10 

– 4 

– 2 

0 

2 

4 

– 2 

– 1 

0 

1 

2 

4 

1 

0 

1 

4 

   d  =  0  2d  = 10 
 

 

 n = 5 

A  =  6   

 c = 2 ½  

 
 

22










 





n

d

n

d
  c  ½ 

 

   =  0
5

10
    2 

 

  =  02 
 
 2  

  =  22  ½  

        2·8 ½ 3 

 33. 
2x  – 6x + q = 0  

q  3 

 

m   n  2x  – 3x + 1 = 0  

i) 
22 mnnm   

ii) 
nm
11    

 
 

1 
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2x  – 6x + q  =  0 

a = 1,   b =  – 6, c  =  q   

 m   n  m = 2n ½  

 m + n  =  
a

b
 ½ 

 

  2n + n  =  
1

)6( 
 

 

  3n  =  6 

   n  =  2 ½  

  m  =  2n   

  m  =  2 ( 2 )  

  m  =  4 ½  

 m . n  =  
a

c
 ½ 

 

  ( 2n ) ( n )  =  
1

q
 

 

  2 2n  =  q   

 2 ( 2 ) 2  = q   

  q  =  8 ½ 3 

  
 

 
2x  – 3x + 1  =  0 

a = 1,   b =  – 3, c  =  1   

 m + n  =  
a

b
 

 

 m + n  =  
1

)3( 
 

 

 m + n  =  3 ½  
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  =  mn  =  

a

c
 

 

 
 mn  =  

1

1
 

 

  mn  =  1 ½  

 i) 22 mnnm   

 =  mn ( m + n ) 

 =  1 ( 3 )  =  3  

   22 mnnm    =  3 1  

 
ii) 

nm

11
  

 =  
mn

nm 
 

 

 
 =  

1

3
  =  3 

 

 
  3

11


nm
 1 

3 

 34. 

 3 

 
 

 

  

  A  B P

 ½  

  A, P  B  ½  

  XPY  ½  

½ 
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  APX  =  90°     

 BPX  =  90°  ½ 
 

 BPXAPX   =  90° + 90° 
 

 BPXAPX   =  180°
  

  
APB  =  180°

  

  APB    

  A, P   B  ½ 3 

 35. AD  BC 2222 ACBDCDAB    3 

 

 

ABCD O  

2222 OCOAODOB  . 
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  ABD   

 222 ADBDAB   ½ 

 222 BDABAD   ... (i)  ½  

  ADC   

 222 CDADAC   ½ 

 222 CDACAD   ... (ii)  ½  

 (i)    (ii)   

  2222 CDACBDAB    

  2222 BDACCDAB   1 3 

   

  EF || DC  

 EF  AD    EF  BC    

  OEA   
222 OEAEOA   ... (i)  ½  

  OBF  222 OFBFOB   ... (ii)  ½  

  OFC  
222 CFOFOC   ... (iii)  ½  

  OED  
222 DEOEOD   ... (iv)  ½  

 (ii)  (iv)   

 
222222 DEOEOFBFODOB   ½  

   =  
2222 FCOEOFAE    BF  =  AE  

    DE  =  FC  

   =   
2222 FCOFOEAE    

   =  
22 OCOA   ½  

  
2222 OCOAODOB   3 
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 36. A
A

A

A

A
sec2

cos

sin1

sin1

cos






  3 

 

60º 30º 40 

 

 

 
 

   =  
A

A

A

A

cos

sin1

sin1

cos 



 

 

  =   
)sin1(cos

)sin1()sin1()cos(cos

AA

AAAA




 ½ 

 

 
 =   

)sin1(cos
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